2000 = =0l & 2 BHa A

AN BNESNUERH

BB LTS M AS(SHHY /S - 5F)

A

ol WX OHEE M (SHol: &2l
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
AN\ =] 5,200,116 6,339,935 A 1,139,819
= 1,154,894
g 900,000
= 82,061
= 3,063, 161
2AHA o] HMe UgH(sHllYLa/ s - &) 3,560, 163 4,456,563 896,400
= 1,154,894
g 900,000
= 82,061
= 1,423,208
M2 A CHE A M A 1,255,504 1,250,890 4,614
= 1,154,894
== 100,610
M2 RS L ASMA(Z2D) 1,154,894 1,115,807 39,087
= 1,154,894
101 Q14 d| 414,060 405, 164 8,896
= 414,060
10 JI2ZtHIZ2E2NSE S 414,060 405, 164 8,896
OJIZtMZ2=zNHsSE % 414,060
Ot 203,940
= 203,940
OO Xt 210,120
= 210,120
206 M= 740,834 710,643 30, 191
= 740,834
01 MZEHl 740,834 710,643 30, 191
OIS L ASMA(IHZ, KHMH) 740,834
= 740,834
MNZA 2SS ASHA 60,560 94,083 AN 33,523
101 Q14| 12,060 18,893 6,833
10 JIZHZ22XNsEES 12,060 18,893 6,833
O EH2AXNEA 10,560
O 2RI 2U4UEER) 1,500
201 B2 25,000 52,713 N27,713




SN ARNENTER
M A0l AW UH(SHHLLL /S - 5E)

ol MR OFEE A (5 &2
SH-EH . C(BH) - NRAY - BES 0ff &+ o4 ggi bRz
TEEET] 10,000 24,300 214,300
O NED(FAE, A5) val S 10,000
;2 ZT2YH 15,000 28,413 ~13,413
0 =) RN ¥ RRH(R22Y S) 15,000
202 o1t 17,500 15,374 2,126
01 =Uofbl 17,500 15,374 2,126
O WXL 2sxe 17,500
206 &bl 6,000 6,000 0
01 Mzl 6,000 6,000 0
O el 6,000
NTEMNLX MAET 40,050 41,000 A950
101 oIty 19,050 22,000 A2,950
10 JIAH22HSE+ 19,050 22,000 £2,950
O THHWY U RIS 29 10,800
O NTEMLR HAH(FYS) 8,250
202 o1t 1,000 1,000 0
SEEREE 1,000 1,000 0
O NTEMLR M4 YsT 1,000
206 THEH] 17,000 15,000 2,000
L 17,000 15,000 2,000
© INTEMAX MAH(IYS 17,000
207 o1l 3,000 3,000 0
CINEEET 3,000 3,000 0
© M M4 AE AR 3,000
WX HED 22ley 1,424,872 2,951,913 A1,527,041
= 600,000
= 82,061
= 742,811
H¥D 29 ¥ |24 71,680 105,113 £33,433
101 oIty 22,130 23,797 A1,667
B EENEEES 22,130 23,797 A1,667
© MLX HED el 13,880




SN 2REXTER
BB LTS MY YS(SHHY R /S - 5&)

el NZX D o2y CLE-E
SN HB G (BH) - MRAY - BES 0l & e Hlm= 2
O M&En 22| o2 11,880
HERYS(UUHEER) 2,000
O ZYO0IE By o2 8,250
201 L3 37,400 62,610 A25,210
01 AtR2teldl 20,000 24,000 24,000
O M&ELD He|(L=HYl S) 20,000
02 =329l 17,400 38,610 A21,210
© MELD AILEHHl | 2l 17,400
202 Oidl 4,000 4,686 A 686
01 3LUAbI 4,000 4,686 A 686
© M&ED 2322 4,000
206 M=l 8,150 14,020 A5,870
01 &l 8,150 14,020 A5,870
O MZXMELD JHOE 22X 8,150
MNZXE HED MF(2S) 1,200,000 2,707,800 A 1,507,800
= 600,000
= 600,000
206 M=l 285,000 0 285,000
s 142,500
& 142,500
01 &l 285,000 0 285,000
o=zdoE »¢ 285,000
s 142,500
== 142,500
401 Al&BIZL20HYI 733,800 2,707,800 A 1,974,000
= 366,900
& 366,900
01 A&l 733,800 2,641,800 A 1,908,000
OMELD &= 733,800
s 366,900
< 366,900
405 KHaHF S| 181,200 0 181,200
s 90,600




SN 2REXTER
BB LTS MY YS(SHHY R /S - 5&)

el W2AN MED oo o (el ®g)
SN HB SR (BIH) - A - B S 0l &b S D=2
= M. che FAY - BES &5 Ofl & 04 ree
405 KHaHE S H] = 90,600
01 AAMTSSFSHI 181,200 0 181,200
O X Al Xt 90,000
Ray 45,000
o= 45,000
OEaH 50,000
iy 25,000
o= 25,000
OXNF=AMAEAD| 2 E=I| Xt 41,200
2 20,600
< 20,600
H&ED 29 2 SNEL(2H) 153,192 139,000 14,192
= 82,061
= 71,131
101 Q14 H]| 153, 192 139,000 14,192
= 82,061
= 71,131
10 JIZHZ2=XNEES 153,192 139,000 14,192
ONED el U MBS el o2y 153, 192
= 82,061
= 71,131
M2 A a2 23 31,238 27,500 3,738
M2 A a2 B33 28,738 20,000 8,738
202 Ol 22,038 20,000 2,038
01 =2ZWoddl 22,238 20,000 2,238
O WZX Mpal 2 22 =7 20,038
405 AHAHF SHI 6,500 0 6,500
01 XAAMNLEEFSHI 6,500 0 6,500
O MZX =0lEe KNS 1,000
O GPSMAP ¢! 5,500
WECT 29 2,500 7,500 A5,000
01 YprEaD 2,500 2,500 0
10 AL HIBAZ 2,500 2,500 0
O MECK HEXEIC &ABA 2,500




FAN: BNAESNUERH

M A0l AW LH(SHHLLL /5L - 5E)
Sl MAD|BIAIS BHE (S5 &)
_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 il b o B2
MAIEHAIE BHE 615,800 42,500 573,300
= 300,000
= 315,800
WX AADIEFAIE ALY 15,800 42,500 26,700
202 Ofl 1,000 1,000 0
01 =00l 1,000 1,000 0
O AYET o YR 1,000
401 AlEHIL2 0] 12,000 8,000 4,000
01 Al&H] 2,000 8,000 4,000
© JlNg FRE BY 12,000
405 THHF S 2,800 33,500 30,700
01 HMUSEF=Y] 2,800 33,500 230,700
© XEA RMEI P (10H) 2,800
WX EDIRED AE(RS) 600,000 0 600,000
= 300,000
= 300,000
401 AlEHILL O 575,452 0 575,452
= 287,726
= 287,726
01 AlZH] 573,248 0 573,248
CEP LT 22,048
2 11,024
= 11,024
OMZAT SOIRNEED &% 551,200
- 275,600
= 275,600
03 A&l 2,204 0 2,204
O A &=l 2,204
2 1,102
= 1,102
405 ThekE S| 24,548 0 24,548
= 12,274
= 12,274
01 KA LASEFSH] 24,548 0 24,548




S A

X| ZH -
S =

2k
=]

HASNHUESH
Aratdol B

LS SPHY AL/ 5 - 5&)

Sol: MuOIBAIE HE T T LR
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2

o237 #*¢ 9,548

sy 4,774

[ 4,774

OX=4 HAI| 7Y 15,000

s 7,500

= 7,500
AL B2 232,749 183,760 48,989
A |X22| 212,749 171,760 40,989
201 Let3| 212,749 171,760 40,989
02 23293l 212,749 171,760 40,989

O FMN2IGHAU(BERZ S) 117,500

O Xt Xetel 95,249
AN ExBZ 20,000 12,000 8,000
401 AUl =204 20,000 11,000 9,000
01 Al&HI 20,000 11,000 9,000

O EHZAL B3 Al 20,000
HHSAAY (ANENEER)OIEHIIEH 1,639,953 1,883,372 ~243,419
ol 2oy 1,574,166 1,813,455 ~239,289
S2& olAdl XN& 1,525,465 1,774,558 A249,093
101 el t| 1,436,805 1,659,958 AN223,153
01 JIE= 888,746 1,057,729 A 168,983

o== 825,457

OgsH 66,000

-4= 5,500,000 x1H x12& 66,000

Ogeta 223,971

-5 2,961,300 x1H 123 35,536

-6 2,328,000& ~4H 123 111,744

-T= 1,352,300 *2E «12& 32,456

-8= 1,273,500 x2H * 12 30,564

-9= 1,139,200& »1E *12& 13,671

Og33 30,668

-6= 2,555,600& x1H x12& 30,668

OJlss 504,818




SN ARNEREES
A HH2HGUI (LS ER)(IIEH/IIE)
chl: QA2 A (ctel &
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2

= 2,250,500 x9H » 123 243,054
-8= 2,004,500 «8H =123 192,432
-9= 1,465,200 x 1H * 123 17,583
-10= 1,078, 1003 4 H « 123 51,749
o&d2=+¢ 759,457,208& *1/12 63,289

02 =¢ 217,340 238,137 AN20,797
QItE=¢ 33,120
Ot =Xt 40,0003 x34H «12& 16,320
OR L= 20,0002 *70E = 12& 16,800
oO=HIExY 9,616
OssM 51,4003 x6H x4 3| 1,234
QLS 419,090& x5 H *43| 8,382
EoRmE =) A=) 34,920
025 0] & 130,000 *14H x 123 21,840
O154 ~ 204 0] 8+ 80,000& x7H »12& 6,720
o10¢ ~ 1540 et 60,0003 x3E x12& 2,160
o548 ~ 104 0/8t 50,000& x7H »12& 4,200
O=E==XNZ22=H 24,480
O=EX 60,0002 34«12 24,480
(O = E=E et =y 2,400
O} =F 40,000 x5H * 123 2,400
olie==d=Y 24,015,100 4. 8%+ 12 13,833
O=E=gR+Y 98,971
Oll=ge4 3,840
-4~55 50,0003 »2E «12& 1,200
-6~7= 30,000 x6H 122 2,160
-8~9= 20,0003 »2ZE «12& 480
OJl=ge=g Iz 1,200
-T= 30,0003 2 «12& 720
-8~92 20,000 x2H » 122 480
Ooerdate|s4Y 10,0002 «2H *12& 240




2N ANEREER
M HHSIAZH(LXBREER)(JIEH/IIEH
£l el 2| (el =
M-8 SRI(310) - MRAY - BeS sl e HlRE2
OXsi2 ZHYR*Y
40,0003 x9H x 123 4,320
OAl2t2Z2 R
7,325%x25A1 24+33% + 128 72,518
O 522 56,1753 x 15 +20! 16,853
03 ZEHZAH 53,040 57,720 24,680
OZM=AHI 130,000 *34H x 123 53,040
04 wWS2AH 49,680 52,800 23,120
O4~55 140,000 1 x 122 1,680
0675 130,000& «16H « 122 24,960
©8~10=2 120,000 «16H x 123 23,040
05 ZHESIH 75,946 84,142 A8,196
Og&E = Itdl 759,457,000 * 1/ 12%60%*2 3] 75,946
06 JHAIXI&H 126,830 140,383 A 13,553
OJt A X2 HI 759,457,000 *16. 7% 126,830
07 HII2 4| 25,223 29,047 N3,824
OHSH 66,000,000 *1/12%1/30x11 2,017
O=s=H 759,457,000 *1/12%1/30% 11 23,206
203 HRF&H 8,800 15,840 AT,040
01 JIZ2ILRFAH 3,000 6,000 23,000
oO3% 3,000
02 ZEBINHRFAH 1,360 1,440 A80
OF&AIILt= 40,0003 x34% 1,360
04 REA2ELRFAH 4,440 8,400 A 3,960
©3001 0] &f 4,440
204 HRLsAY| 79,860 98,760 18,900
01 HMSHSHAH 4,800 9,600 4,800
O3% 400,000& 123 4,800
02 XNs==2xdl 55,260 66,360 A 11,100
O4= 400,000 x 1+ 123 4,800
O5= 250,000 1 x 122 3,000
Ob= 155,000& 5 128 9,300




2AM: ZASKUEAER
. HESIZEH(ZNSUHEER)(DIEH/DIE
chol: o2l 2ot 2| &2l
M- H® . o9l(3) - HRAY - Ba2 Abon Soe HDS2
o7= 140,000& * 11 x12& 18,480
©8~9= 105,000& *12¥ x12& 15,120
0102 95,0003 x4H = 12& 4,560
03 SZLRHESH| 19,800 22,800 A 3,000
oeresyl 50,0003 33 x12& 19,800
SIIHAIZZ A 2128 XA 48,701 38,897 9,804
101 o124l 48,701 38,897 9,804
09 RIAHLZZXNES 48,701 38,897 9,804
OPIE=S= 38,500 2% x255! 19,635
OFSJ =, 9,817,500 *2H *4/12 6,545
O&FINIZEIHAZ 9,817,500 »2H *10% 1,964
OR=sgY 38,5003 x2H x52 4,004
OAZtAZ2+E 7,219 x20A| 2t+2H x 12E 3,466
QR =&II=+Y 38,500& x2H x 19 1,463
O =] 38,5003 x2H 482 *150% 5,544
OY A ZFOHYI 300,000& x2H *23| 1,200
o= Al 50,000 x2H = 12& 1,200
OHESRHIUUEER) 3,000
o1l =l 200,000 »2H 400
o=l 7,000 x20 x2H 280
| =&l 65,787 69,917 24,130
AE2g I3l 65,787 69,917 24,130
201 Let23| 35,126 38,377 23,251
01 AtR2teldl 30,326 34,657 A4, 331
ORA2Y AtR22lHl 30,326
02 35224l 4,800 3,720 1,080
ORN2YE 222ZH| 4,800
202 Oidl 25,661 27,540 21,879
01 =WHbI 25,661 27,540 21,879
ORM2g 2UHHYI 25,661
405 XH&HF SHI 5,000 4,000 1,000
01 XL EEFHSHI 5,000 4,000 1,000




SN 2RERTES
B BN AR (LUSHAS)(IEHIIE)
Sl 1= 2|
% 5 I ME T
SN -3H - S2A(2AH) - NRAY - BE= Ofl &4 Ol AF o8

O=AII(1CH) 5,000




